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307 2I2+0l ™ 12,966,011 12,436,697 529,314
05 QIZtRES 12,966,011 12,436,697 529,314
OMEMI| 27 - U QIS et s
12,966,011,000& 12,966,011
308 AHXIHMSOIH 624,581 610,000 14,581
13 BI |2 SOICHEH B A XL E AL 528,000 528,000 0
OMgD| ez 528,000
- JIEE 16,0003 *2,500=+12& 480,000
- 338 16,0003 *250&E+ 123 48,000
14 J|EIRE =3 96,581 82,000 14,581
CHDIZM=RE= 96,581,000& 96,581
HRZEH HeletESD] 282,562 468,647 A 186,085
201 2| 237,062 229,712 7,350
01 At 22|l 233,700 226,000 7,700
QuigMed| HiE eHHE HIE
1502 *130,0000H 19,500
OMEMY D] Ol=H AEIH HE
1502 +20,000& 25 6,000
ORHEI| & HOIZ NMel =2
250,000 »44E+ 122 132,000
OHEAM EH2IEY Hel =2
200,000& x30E* 123 72,000
OgtiEdx = ds8H M
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50,0003 44 A+ 128 2,400
O 2eld SAAE H AEE
38,500 * 1 A+ 128 462
203 =] 1,000 1,000
03 A=A 2= 1,000 1,000
OMRet Ji2gd &4 1,000,000 1,000
307 lztol & 30,000 30,000
05 2ItRIE = 30,000 30,000
ootz Hel 2,500,000& ~12& 30,000
405 KHaHF S| 14,500 207,935 A193,435
01 ML ESFSHI 14,500 207,935 A193,435
OJt2 HAS ®IIBEI| 7Y
1,000,000 +6CH 6,000
OFAER 2atg 1,700,000 *5H 8,500
AATE Bz =8 123,173 345,317 N222,144
201 er23| 123,173 112,975 10,198
01 At2t2ltl 2,016 1,680 336
O8AXE REkz S8z 2,016
- tEesA (4= THHARSAE)
12,0002 *113]x 122 1,584
- 2o, MAIRSA(RRY, HEX 2
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- HEgo 120,000 +5& 600
- S 30,0002 +91& 2,730
OgtZacld 2= Jlidaes NE
30,0002 x4 x 122 1,440
202 04l 960 960
01 SLHoIH 960 960
Ostdaeld 22 0l
20,0003 x2EH+23|x 12 960




2A:

M HAe|(EH/HOI2)
=l JHRe Jt2Edx s (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
203 HR=H] 1,000 1,000
03 A=A 2= 1,000 1,000
ozl e & 2l
1,000,000 1,000
A=SSEF M2l 341,978 413,773 ANT1,795
201 ger=3| 1,738 0 1,738
01 AtR2te|H] 1,738 0 1,738
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- aes 200 186,000 *1H 186
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HatsS 7,700,000 7,700
MeD| REHEI| G 188,694 156,198 32,49%6
201 er23 | 122,544 118,704 3,840
01 At2teltl 9,640 5,800 3,840




A =2t
M HAe|(SH/HDI2
Chel: JHRE t2EF A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFHSI 2= M= 5,000
- 20E)| Fn2(LE)
10,0002 x300& 3,000
- RESI ZN=2(0R)
20,0002 *100& 2,000
ORusI|sy 1=t 800
- ae=(x7), 29) 60,0002 42 240
- 22=2(58) 40,0002 x4 560
ORSEI| = - oF2tes 2|
8,000& 128 x8E 53] 3,840
2 35244l 112,904 112,904 0
OZAIBtIet & &L=
5,500& 1040 A+ 12002 6,864
ORHE)| St SHEER
35,0002 ~4CH = 1204 1,680
O AZAIM0C AEHY JHANEE
90,000 x2CH* 1290 & 99,360
ORHSI| &5 & HEE 3l 35 WAl
S =cl 5,000
-Hx, AEZ28 S 2l(2H)
600,000 *5CH 3,000
- HERIAEE & =2l(uH)
400,000 ~5CH 2,000
301 EtE NS 1,200 1,200
14 JIEt2d=3 1,200 1,200
OXgPD| SHSI| MRS 1,200
- gyl S
20,0002 3241204 720
- 3= S| 5,0003+8AH* 1201 2 480
405 AHAHE S 64,950 36,294 28,656
01 AL =S F=H 64,950 36,294 28,656
OZ At w A 2,165,000 30CH 64,950
M0l SESI] ol 50,000 39,688 10,312
Al 35,000
- 15,000
405 KHoHF S| 50,000 39,688 10,312
Al 35,000
- 15,000
01 L ESFISHI 50,000 39,688 10,312
OZAIBtHI2H OIS A!) 5,000,000 *10CH 50,000
Al 35,000
- 15,000
o2 g % A3t 2,692,865 2,360,581 332,284
Al 5,000
- 2,687,865




A =2t
M HAe|(SH/HDI2
el HolE 2 # AraEt (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Hess J8d 29 633,436 124,781 508,655
201 er23 | 113,436 124,781 A11,345
01 At2teltl 9,408 17,418 /8,010
OHEd REAIER 51,7002+ 128 621
OdE8d F=Jl A8
66, 1002 * 1204 2 +2CH 1,587
OHEE2AH(A2E S)
300,000 *120HE 3,600
Ostgdac|ad ordate| 3,600
- HNEE S 20,0003 =15 ~12& 3,600
02 S3=gHl 104,028 107,363 A3,335
oNgss 88 JJILks 34,528
- 283 6, 1603 70K+ 12 5,175
- AEyes
1043 *70KWx 140A| 2Hx 122 +3CH#80% 29,353
OMEEBE He% +523
500,000&*12CH 6,000
Odgd FHI=IbI 36,200
- XX 2,000,000 2CH 4,000
- 2180104 1,500, 0002 *2CH 3,000
- ZEJ| RIAXCIEX 2HE WA
3,550, 0002 x2CH <22 14,200
- &d&J| S =4l 5,000,000 =3CH 15,000
OdEd 2= & AIEFAH| 25,000
- doly S AlE= gl 20,000,000 20,000
- dE=d 5,000,000& 5,000
OSaABH NI 2,300
- HEES 2el(=2, a8)
110,000 2 220
- HEE8E d8(A8)
40,0003 x26F 23] 2,080
401 AIEHIX R0 520,000 520,000
01 AlZ2H| 520,000 520,000
OoNgss 2 YAHE £X
320,000,000 320,000
OAEIZZS SA ZEHYE IIEARE 5
e 1,000,000 x200m’ 200,000
ZCHE 2223 & HgE =Uat 130,969 91,980 38,989
101 @124H| 46,509 0 46,509
MU IIRINZZENSES 46,509 0 46,509
OXE=g HME2 JIZN2 2N 29 46,509
-JlEs 90,560 x2H 170! 30,791
- 7#ERdsE 90,5602 2 +55L 9,962
- QAL EEHRYS
40,752,000& *3.495% 1,425




of
i’
oF
uJ

-

KIO

Hlw

24,400
A4,400

HMEE
Ofl &k2h

48,680
48,680

1,000
1,000
15,900
15,900

Ofl &F2H

1,834
714
408
175

1,200
48,680
48,680

680
200

8,500
500

8,000
37,500

6,000
1,500
2,000
1,000
1,000

30,000

1,000
11,500
11,500

6,000

- SRA(3) - HIRAEY

- ESS

S LRE-L

1.75%

40,752,000 * 1%

2 %

o

40,752,000 *4. 5%
1,424, 2823 %12.27%

40,752,000

RO

3|

300,000& x2E+2

01 AFS2t2ltl
OAHEH

g
i
<

20,0002 *102F A
40,0003 * 123

= M

- HEW HMAEE

- SALEX

0l
10
il
[
Ho

il
=

2y

502 *160,0000H

60
o

ujo
0
0
=

3]

500& 3,000
200,000&+10

400,000 = 1504

2,000&x15,000%

- 30| ME41 HIE

KJ
KF
ok
ol

2

1,000, 000& *1

OHPI

no
20
H

14 JIEt

1,000,000 =122 *50%

ol

K]
i~

0o
ol

K]

23,120

1,800
1,800

24,600

500
1,800
1,800
1,800

500

400

900

21,480

5,000

b

e

t

3
el
el
2t
-
=

2503 20,0004
50,0002 *10
300,000& %371

400,000 121

500,000& %171

2 Ala=

307 212t01d




FA A=t
A Fa2e|(8Z/HOI8)
!

Rl HUIE 2" ¥ s EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 21,480 24,600 A3,120
OHRelY 7IsHzl
11,0002 x140=+ 122 18,480
oHgas 2t 300,000& 102 3,000
SASMY I SEH Hal 1,918,460 2,143,820 N225,360
201 et 3| 33,380 37,220 A3,840
01 At2t2l] 33,380 37,220 23,840
OSAlSM I ZEAIH =& 6,500
- 822 502 *120,0000H 6,000
- s 100,000 *5H 500
ORFIDIIEE H=ESIH THEESAE K2l
320,000 «7CH* 122 26,880
301 22N 3,000 3,000
14 JIEt2 8= 3,000 3,000
O3S SAaSAdI| 2017 AU 3,000
- 22 OHE 600,000 *37H 2 1,800
- £ OHIE 400,000 *39H 2= 1,200
307 @120l & 1,576,800 1,835,400 258,600
05 git?(& = 1,576,800 1,835,400 258,600
OBIZDIHEAIE SIER2
146,000& x000E+ 12 1,576,800
308 XtXIEMSO0IH 305,280 268,200 37,080
18 SISO EAS A 305,280 268,200 37,080
O==g S8al2 HEXIAE AEE
53,0002 <260+ 128 165,360
OMT SAZ TASIAE NBE
53,0002 x220=+ 122 139,920
LIs3H 243 At 10,000 0 10,000
Al 5,000
- 5,000
201 Ler23 | 10,000 0 10,000
Al 5,000
T 5,000
03 Ar=EHI 10,000 0 10,000
Olt=dH = 10,000
- 822 HMH 4,000& *1,000H 4,000
Al 2,000
- 2,000
- 22 WA 500,000 32 1,500
Al 750
- 750
- 2ERA 4X 1,500,000 #33] 4,500
Al 2,250
- 2,250




o
il
T
oy

- %, % ol|lo|e
n0 3 o) T ol|lo
Klo @ RS
m_ M ™~ X
D — ™ ©
A — — % N~
s|s B8 ©
N~ - o | == a
N
EEEIEE 3|3
— N ™ [aN]
war | B 5= SEEEE
.d_u._m < | < m — |~ N
e Q8o <
] e
. SIS 3|38 S
IS 22| =
®|® m Q © W
88 glgegly .
RN I g18|8 8
= T 38 S @ K|w Y S - % SIS 5|
of =" @ - - slg 2|2 sle 8 g
M Y|g|8|8 = 8% 888 8
- o oo > N~ S S 8
S S g w N ®» O LI |y
- F - Ql D 0| O | @ SIB|L
<) a ool | S Q5 05
i s <|o| o @ 5 &
-l = e FlglR|y vo=
=< —
<] —
o | 2 p
0 |7 7 X E 1 ® o
m | o 20w 8 5 8 % moW m
Y s 18 N =R 893 i %
a |4 S W8 ¥ Dws 2 I8 3 8§ 8 3 z <
< M_H = — — oF) m al A_vm = * o M*m S L)
X ~< OF i X ™ < > =
“=_| 110 el = o _ - x > 0 H A o
T |0 = k= e ol 8 < o = 8 = = o 2 8
= |5 o < : + 4 d 5 8 7
| L o - ag i ye 4 § & 3 S i &
D 2 ISP E - 2 58 5 5
= |3 5l g o0& T g ms 8- g
S il o __+ N oK ng S &
=i I — T =~
F Ma h nJ W _ @ 31 = Y 00
| F oK " =< " o = = n N = -
N z) ] P ST e oD < o W m_ .
& Y R = =R <+ =2 238 o or o
0 bl i Rilso|m £ o s o l— | - Ao - M0 0 nm ur -
RO = p o |0 |F) B K o~ |8 || a ez RO Ao o o F |
o o <+ H|or|o- o A wr =80 R0 70 Of <u = I - o <J N ar B
o} 50t o) <+ |& - el vl Fer o B A W g W <F T
S & HalT = o |55 Y| S| 6 Ko AR wX 20 % o < o= bt
Ik |w ¢ ATmmO O mw%now___wmm RO M Mo S 3% F D |20 5|5 a
K ol o} ™~ L < I O X - X =
R0 Ao o =3k 5 sl s O OJ Ho o Fo KO o 20 g oS |oF o = 50 |3 RO =
10§ Kio | < O H0 Kt o bl @ 30
IO % O O ! ! | _u_o D._ D._ _A_.o - o —HC ] o_..._
Sl S w0 W o
Isp) (@) 1103 m —_ O
Ho [ © N
H0




A =2t
B Sl SSiE U SEBO|(BY/AGET - 27
2ol 339 +22H Y SEA AL (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZSe A Hotx 82 U 2k 2 24
= 6.,800,000& 6,800
O=ss38d 8582= 12,192
- &JIeRs 7,000 x350H A= x 128 2,940
- doteERs, S0I2REs
21,0003 *x3504 2=+ 123 8,820
- SSeEA HIYdE 2=
6,000 6 A+ 122 432
307 @12to| & 9,722 88,870 3,852
05 git?(& = 9,722 88,870 3,852
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- 1ELE= 5,633,596,00021*1.75% 98,588
AN k== 5,633,596,000& * 1% 56,336
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02 S52g4l 1,000 1,000 0
OFC S A€ &Hl || 200,000 %52 1,000
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M FAZHHIFII 9,900 9,900
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